

Monadic and Closure MV-Algebras

GEORGE GEORGESCU^{a,*}, AFRODITA IORGULESCU^b
and IOANA LEUȘTEAN^c

^a *Institute of Mathematics, Calea Griviței 21, Bucharest,
Romania, P. O. Box 1-764, Romania;*

^b *Academy of Economic Studies, Department of Computer Science,
Calea Dorobanților 15-17, 71131, Bucharest, Romania;*

^c *University of Bucharest, Faculty of Mathematics, Str. Academiei
14, 70109, Bucharest, Romania*

Recommended for publication by Sergu Rudeanu

(Received 1 December 1997; In final form 10 January 1998)

The MV-algebras are the algebraic structures corresponding to the infinite valued calculus of Lukasiewicz. In this paper we investigate the monadic and the closure MV-algebras and we establish some connections between them. We also prove that monadic MV_n -algebras are polynomially equivalent to monadic n -valued Lukasiewicz–Moisil algebras for $n = 3$ and $n = 4$.

Keywords: MV-algebra; monadic algebra; closure operator; Lukasiewicz–Moisil algebra

The MV-algebras were introduced in [4] as algebraic structures corresponding to the infinite valued propositional calculus of Lukasiewicz. The quantifiers defined on an MV-algebra appear in [13, 14]. These two papers developed the algebraic logic for the infinite valued predicate calculus [2].

The aim of this paper is to investigate the monadic and the closure MV-algebras and some connections between them. Section 1 presents some important features of MV-algebras and Section 2 is concerned with some basic properties of monadic MV-algebras. Section 3 deals

* Corresponding author.

with closure MV-algebras and with their relationship with monadic MV-algebras. The closure MV-algebras reflect algebraically some many-valued modal propositional logic [11]. We study the concept of P -ideal in a closure MV-algebra. In Section 4 we establish some connections between monadic MV_n -algebras and monadic n -valued Lukasiewicz–Moisil algebras ([3, 7, 9]) for $n = 3$ and $n = 4$.

1. PRELIMINARIES ON MV-ALGEBRAS

In this section we shall briefly describe MV-algebras. For a better understanding one can see [4, 5].

An *MV-algebra* is an algebra $\langle A, \oplus, \bar{\cdot}, 0 \rangle$ with a binary operation $\oplus$, a unary operation $\bar{\cdot}$ and a constant 0 such that

0. $\langle A, \oplus, 0 \rangle$ is an abelian monoid,
1. $\bar{\bar{x}} = x$ for every $x \in A$,
2. $x \oplus \bar{0} = \bar{0}$ for every $x \in A$,
3. $\bar{x} \oplus \bar{y} \oplus y = \bar{y} \oplus x \oplus x$ for every $x, y \in A$.

On each MV-algebra we define the constant 1 and the binary operations $\odot$, $\rightarrow$ and $\ominus$ as follow:

$$\begin{aligned} 1 &\stackrel{\text{def}}{=} \bar{0}, \\ x \odot y &\stackrel{\text{def}}{=} \overline{\bar{x} \oplus \bar{y}}, \\ x \rightarrow y &\stackrel{\text{def}}{=} \bar{x} \oplus y, \\ x \ominus y &\stackrel{\text{def}}{=} x \odot \bar{y}. \end{aligned}$$

The following identities immediately follow:

4. $\bar{1} = 0$,
5. $x \oplus y = \bar{x} \odot \bar{y}$ for every $x, y \in A$,
6. $x \oplus 1 = 1$ for every $x \in A$,
7. $x \oplus \bar{x} = 1, x \odot \bar{x} = 0$ for every $x \in A$.

Example 1 Let $n \geq 2$. If we denote $L_n = \{0, \frac{1}{n-1}, \dots, \frac{n-2}{n-1}, 1\}$ and we define the operations $x \oplus y = \min(1, x + y)$ and $\bar{x} = 1 - x$ for every $x, y \in L_n$ then $\langle L_n, \oplus, \bar{\cdot}, 0 \rangle$ is an MV-algebra.

Let A be an MV-algebra. For any two elements x, y of A we say that $x \leq y$ iff $y = x \oplus (y \odot \bar{x})$. It follows that $\leq$ is a partial order, which is

called the *natural order* of A . The natural order determines a lattice structure on A . The corresponding join and meet are given by the formulas:

$$\begin{aligned} x \vee y &= x \oplus (\bar{x} \odot y), \\ x \wedge y &= x \odot (\bar{x} \oplus y). \end{aligned}$$

In every MV-algebra A the following equations hold:

8. $x \odot (y \vee z) = (x \odot y) \vee (x \odot z)$, $x \oplus (y \wedge z) = (x \oplus y) \wedge (x \oplus z)$ for every $x, y, z \in A$.

The defined operations $\vee$ and $\wedge$ make A a distributive lattice with least element 0 and greatest element 1.

LEMMA 2 [4] *In every MV-algebra A the following properties hold:*

- (i) $x \leq y$ iff $\bar{y} \leq \bar{x}$,
- (ii) if $x \leq y$ then $x \oplus z \leq y \oplus z$ and $x \odot z \leq y \odot z$,
- (iii) $x \leq y$ iff $\bar{x} \oplus y = 1$ iff $x \odot \bar{y} = 0$,
- (iv) $x \odot y \leq x \wedge y \leq x \vee y \leq x \oplus y$.

We say that an MV-algebra is *linearly ordered* if the order relation is total. An MV-algebra is *complete* if it is complete as a lattice.

LEMMA 3 [1] *In every MV-algebra A the following equalities hold:*

$$(i) \quad a \oplus \bigvee_{i \in I} x_i = \bigvee_{i \in I} (a \oplus x_i), \quad a \oplus \bigwedge_{i \in I} x_i = \bigwedge_{i \in I} (a \oplus x_i),$$

$$(ii) \quad a \odot \bigvee_{i \in I} x_i = \bigvee_{i \in I} (a \odot x_i), \quad a \odot \bigwedge_{i \in I} x_i = \bigwedge_{i \in I} (a \odot x_i),$$

(iii) if A is linearly ordered then

$$\bigvee_{i \in I} (x_i \oplus x_i) = \bigvee_{i \in I} x_i \oplus \bigvee_{i \in I} x_i, \quad \bigvee_{i \in I} (x_i \odot x_i) = \bigvee_{i \in I} x_i \odot \bigvee_{i \in I} x_i,$$

$$\bigwedge_{i \in I} (x_i \oplus x_i) = \bigwedge_{i \in I} x_i \oplus \bigwedge_{i \in I} x_i, \quad \bigwedge_{i \in I} (x_i \odot x_i) = \bigwedge_{i \in I} x_i \odot \bigwedge_{i \in I} x_i.$$

If we denote $C(A) = \{x \mid x \oplus x = x\}$ then for every $x, y \in C(A)$ the operations $\vee$ and $\oplus$ coincide and $C(A)$ is a Boolean algebra (we call it the *Boolean center* of A).

LEMMA 4 In every MV-algebra the following properties hold:

- (r1) $y \odot z \leq x$ iff $y \leq x \oplus \bar{z}$,
 (r2) $(x \odot y) \vee z \geq (x \vee z) \odot (y \vee z)$, $(x \oplus y) \wedge z \leq (x \wedge z) \oplus (y \wedge z)$.

If $x \in A$ we define:

- (i) $0x = 0$, $(n+1)x = nx \oplus x$,
 (ii) $x^0 = 1$, $x^{n+1} = x^n \odot x$,

where n is a natural number.

The order of an element x ($ord(x)$) is the least natural number n such that $nx = 1$. If no such integer n exists then $ord(x) = \infty$.

We say that an MV-algebra is *locally finite* if every non-zero element has a finite order.

In [6] R. Grigolia defined the MV_n -algebras as corresponding algebraic structures of the n -valued propositional calculus. We say that an MV-algebra A is an MV_n -algebra if it satisfies:

9. $(n-1)x \oplus x = (n-1)x$ and $x^{n-1} \odot x = x^{n-1}$ for every $x \in A$
 10. If $n \geq 4$ the following axioms are added:

$$[(jx) \odot (\bar{x} \oplus \overline{(j-1)x})]^{n-1} = 0 \text{ and } (n-1)[x^j \oplus (\bar{x} \odot x^{j-1})] = 1$$

for every $x \in A$ and $1 < j < n-1$ such that j does not divide $n-1$.

Remark 5 The algebra L_n defined in Example 1 is an MV_n -algebra

In an MV_n -algebra A we define $x^* = \overline{(n-1)x}$.

LEMMA 6 [6] In every MV_n -algebra A the following equalities hold for every $x \in A$:

- (i) $x \wedge x^* = 0$,
 (ii) $(n-1)(x \vee x^*) = 1$.

Let $\langle A, \oplus, \bar{\cdot}, 0 \rangle$ be an MV-algebra. For every x and y in A the following properties hold:

- (r3) $x \oplus (y \odot x) = x \vee y$, $x \odot (x \rightarrow y) = x \wedge y$,
 (r4) $x \leq y$ iff $x \odot y = 0$ iff $x \rightarrow y = 1$,

- (r5) $(x \odot y) \odot z = x \odot (y \oplus z)$, $x \rightarrow (y \rightarrow z) = (x \odot y) \rightarrow z$,
 (r6) if $x \leq y$ then $z \odot y \leq z \odot x$ and $y \rightarrow z \leq x \rightarrow z$.

We finish our presentation with some properties of MV-ideals. If A is an MV-algebra then a nonempty subset I of A is an MV-ideal if for every $x, y \in A$ the following are satisfied:

- (i1) $y \leq x$, $x \in I \Rightarrow y \in I$
 (i2) $x, y \in I \Rightarrow x \oplus y \in I$.

In the sequel, for an MV-algebra A , we shall say that $I \subseteq A$ is an ideal if I is an MV-ideal of A .

If we denote $d(x, y) = (x \odot y) \oplus (y \odot x)$ then we can associate with an ideal I the relation defined by

$$x \sim_I y \Leftrightarrow d(x, y) \in I$$

which is a congruence relation with respect to the MV-algebra operations. On the other side, if $\sim$ is a congruence on an MV-algebra A then $I = \{x \mid x \sim 0\}$ is an ideal. It is easy to see that there is a one to one correspondence between the set of all ideals of an MV-algebra and the set of its congruences [4]. If we denote by A/I the set of all congruence classes and by $[x]$ the congruence class of the element $x \in A$, then we can define the MV-operations in a natural way: $[x] \oplus [y] = [x \oplus y]$, $\overline{[x]} = [\bar{x}]$ and $0_{A/I} = [0_A]$. It is easy to see that A/I becomes an MV-algebra.

2. MONADIC MV-ALGEBRAS

This section is a brief presentation of monadic MV-algebras (see [13, 14]). We remind some of their properties and we investigate the monadic ideals of a monadic MV-algebra.

DEFINITION 7 A monadic MV-algebra is a pair $\langle A, \exists \rangle$ where A is an MV-algebra and $\exists : A \rightarrow A$ is a mapping which satisfies the following axioms:

- M0. $\exists 0 = 0$,
 M1. $x \leq \exists x$,

- M2. $\exists(x \odot \exists y) = \exists x \odot \exists y$,
 M3. $\exists(x \oplus \exists y) = \exists x \oplus \exists y$,
 M4. $\exists(x \odot x) = \exists x \odot \exists x$,
 M5. $\exists(x \oplus x) = \exists x \oplus \exists x$.

If we define $\forall x = \overline{\exists x}$ for any $x \in A$ then the following properties hold in A :

- M0°. $\forall 1 = 1$,
 M1°. $\forall x \leq x$,
 M2°. $\forall(x \oplus \forall y) = \forall x \oplus \forall y$,
 M3°. $\forall(x \odot \forall y) = \forall x \odot \forall y$,
 M4°. $\forall(x \oplus x) = \forall x \oplus \forall x$,
 M5°. $\forall(x \odot x) = \forall x \odot \forall x$.

We can also define a monadic MV-algebra as a pair $\langle A, \forall \rangle$ where A is an MV-algebra and $\forall$ is a mapping which satisfies the above conditions M0°–M5°.

If A is an MV-algebra then an *existential quantifier* on A is a mapping $\exists: A \rightarrow A$ which satisfies the axioms M0–M5. A *universal quantifier* on A is a mapping $\forall: A \rightarrow A$ which satisfies the axioms M0°–M5°.

LEMMA 8 [13] *In every monadic MV-algebra the following properties are satisfied:*

- (i) $\exists 1 = 1$,
 (ii) $\exists \exists x = \exists x$,
 (iii) $\exists(\overline{\exists x}) = \overline{\exists x}$,
 (iv) $\exists(\exists x \odot \exists y) = \exists x \odot \exists y$,
 (v) $\exists(\exists x \oplus \exists y) = \exists x \oplus \exists y$,
 (vi) $\exists(a \wedge \exists b) = \exists a \wedge \exists b$,
 (vii) $\exists(a \vee b) = \exists a \vee \exists b$,
 (viii) $x \leq y \Rightarrow \exists x \leq \exists y$ and $\forall x \leq \forall y$,
 (ix) $\exists \forall x = \forall x$, $\forall \exists x = \exists x$.

LEMMA 9 *Let $\langle A, \exists \rangle$ be a monadic algebra. Then*

- (i) $\exists(x \oplus y) \leq \exists x \oplus \exists y$,
 (ii) $\exists x \odot \exists y \leq \exists(x \odot y)$,
 (iii) $\exists(\bigvee_{i \in I} x_i) = \bigvee_{i \in I} \exists x_i$.

Proof

- (i) From $x \oplus y \leq x \oplus \exists y$ it follows that $\exists(x \oplus y) \leq \exists(x \oplus \exists y) = \exists x \oplus \exists y$.
 (ii) From M1 and Lemma 2 it follows that $x \odot \overline{\exists y} \leq x \odot \bar{y}$. Using Lemma 8 and M2, we obtain $\exists x \odot \exists y = \exists(x \odot \overline{\exists y}) \leq \exists(x \odot \bar{y})$.
 (iii) Let $x = \bigvee_{i \in I} x_i$, so $\exists x_i \leq \exists x$. Let $y \in A$ be such that $\exists x_i \leq y$ for all $i \in I$. We have that $x_i \leq \exists x_i = \forall \exists x_i \leq \forall y$ for all $i \in I$, so $x \leq \forall y$ and it follows that $\exists x \leq \exists \forall y = \forall y \leq y$.

Example 10 Consider a pair (X, R) where X is a nonempty set and R is an equivalence relation on X . Let L be a linear complete MV-algebra (for example $L = L_n$). Then L^X is an MV-algebra. Define the function $\exists: L^X \rightarrow L^X$ by

$$(\exists p)(x) = \bigvee \{p(y) \mid xRy\} \quad \text{for any } p \in L^X \text{ and } x \in X.$$

Then $\langle L^X, \exists \rangle$ is a monadic MV-algebra. The axiom M0 is obvious and M1 follows from the fact that R is reflexive. We shall verify only the axioms M3 and M4 in Definition 7.

- (M3) For $p, q \in L^X$ and $x \in X$ we obtain, using Lemma 3 (i), $\exists(p \oplus \exists q)(x) = \bigvee \{p(y) \oplus (\bigvee \{q(z) \mid yRz\}) \mid xRy\} = \bigvee \{p(y) \oplus q(z) \mid xRy, yRz\}$. $\exists(p \oplus \exists q)(x) = \bigvee \{p(y) \oplus q(z) \mid xRy, xRz\}$. But R is an equivalence relation, hence xRy and yRz iff xRy and xRz , therefore $\exists(p \oplus \exists q)(x) = (\exists p \oplus \exists q)(x)$.
 (M4) $\exists(p \odot p)(x) = \bigvee \{p(y) \odot p(y) \mid xRy\}$. Using Lemma 3, (iii), we obtain $\exists(p \odot p)(x) = (\bigvee \{p(y) \mid xRy\}) \odot (\bigvee \{p(y) \mid xRy\}) = (\exists p \odot \exists p)(x)$.

DEFINITION 11 Let $\langle A, \exists \rangle$ be a monadic MV-algebra and $I \subseteq A$. We say that I is a *monadic ideal* if I is an ideal of A and for every $x \in A$ the following condition is satisfied:

$$x \in I \Rightarrow \exists x \in I.$$

Remark 12 Let $\langle A, \exists \rangle$ be a monadic MV-algebra and let X be a set of elements from A . The monadic ideal generated by X in $\langle A, \exists \rangle$ is

$$(X)_\exists = \{y \in A \mid y \leq \exists x_1 \oplus \cdots \oplus \exists x_n, x_1, \dots, x_n \in X\}.$$

LEMMA 13 *If I is a monadic ideal then A/I is a monadic MV-algebra.*

Proof We have to prove that $d(x, y) \in I$ implies $d(\exists x, \exists y) \in I$. From $d(x, y) \in I$ it follows that $x \odot y, y \odot x \in I$, so $\exists(x \odot y), \exists(y \odot x) \in I$. Using Lemma 9(ii) we obtain $\exists x \odot \exists y, \exists y \odot \exists x \in I$ from which $d(\exists x, \exists y) \in I$. If we define $\exists([x]) = [\exists x]$ it follows that $\langle A/I, \exists \rangle$ is a monadic MV-algebra.

Remark 14 $\exists(A)$ is subalgebra of the monadic MV-algebra A (from M0 and Lemma 8 (ii), (iii), (v)).

PROPOSITION 15 *There is a one to one correspondence between the ideals of $\exists(A)$ and the monadic ideals of A . Moreover, maximal ideals of $\exists(A)$ correspond to monadic maximal ideals of A .*

Proof If J is an ideal of the MV-algebra $\exists(A)$ then $\bar{J} = \{x \mid \text{there is } y \in J, x \leq y\}$ (the MV-ideal generated by J in A) is a monadic ideal of A . If I is a monadic ideal of A then $I \cap \exists(A)$ is an ideal of $\exists(A)$. It is easy to see that $I = \bar{I \cap \exists(A)}$ and $J = \bar{J \cap \exists(A)}$ for every monadic ideal I of A and for every ideal J of $\exists(A)$.

DEFINITION 16 A monadic MV-algebra $\langle A, \exists \rangle$ is *simple* if $\{0\}$ is the only proper monadic ideal of A . An existential quantifier $\exists$ defined on A is *simple* if for every $x \neq 0$ the order of $\exists x$ is finite.

LEMMA 17 *A monadic MV-algebra $\langle A, \exists \rangle$ is simple if and only if $\exists$ is a simple quantifier.*

Proof Let $\langle A, \exists \rangle$ be simple and $x \neq 0$. Then the monadic ideal generated by x is not proper, so there is a natural number n such that $n\exists x = 1$ and $\text{ord}(\exists x) < \infty$.

Let $\exists$ be a simple quantifier and I a proper monadic ideal of A . If there is an element $x \neq 0, x \in I$ then $\exists x \in I$, so $1 \in I$ which contradicts the fact that I is proper.

COROLLARY 18 *A monadic MV-algebra $\langle A, \exists \rangle$ is simple if and only if $\exists(A)$ is a locally finite MV-algebra.*

PROPOSITION 19 *Every monadic MV-algebra is isomorphic to a subdirect product of simple monadic MV-algebras.*

Proof In [6] it is proved that the intersection of all the maximal ideals of an MV-algebra is equal to $\{0\}$, so by Proposition 15 we obtain

that the intersection of all maximal monadic ideals of a monadic MV-algebra is $\{0\}$. Let A be a monadic MV-algebra and $\text{Max}(A)$ the set of monadic maximal ideals of A . We define a natural embedding from A to $\prod_{M \in \text{Max}(A)} A/M$ which associates with an element from A the family of its classes. The intended result is now obvious.

3. CLOSURE MV-ALGEBRAS

A *closure Boolean algebra* is a pair $\langle B, P \rangle$ where $B = \langle B, \vee, \wedge, \neg, 0, 1 \rangle$ is a Boolean algebra and P is a unary operation on B satisfying the following properties:

$$\begin{aligned} P0 &= 0, \\ P(x \vee y) &= Px \vee Py, \\ x &\leq Px, \\ PPx &\leq Px \end{aligned}$$

for any x, y in B . The closure Boolean algebras are algebraic models for the classical modal propositional logic S_4 , so they are also called S_4 modal Boolean algebras. If we denote $Qx = \overline{Px}$ and we add the axiom

$$PQx \leq Qx$$

we say that $\langle B, P \rangle$ is an S_5 modal Boolean algebra. These structures reflect algebraically the classical modal propositional logic S_5 .

In [11] there were studied some modal systems for n -valued Lukasiewicz logic. A natural problem is to consider the adequate algebraic structures for these modal logics.

In this section we shall define closure MV-algebras. Our definition is inspired by the system of axioms associated with the modal system S_4 for n -valued Lukasiewicz logic [11].

DEFINITION 20 Let $A = \langle A, \oplus, \odot, \neg, 0, 1 \rangle$ be an MV-algebra and $P: A \rightarrow A$ a map defined on A . We say that $\langle A, P \rangle$ is a *closure MV-algebra* (or S_4 modal MV-algebra, or *topological MV-algebra*) if P satisfies the following axioms:

$$\begin{aligned} \text{A0. } P0 &= 0, \\ \text{A1. } (Px \odot Py) &\leq P(x \odot y), \end{aligned}$$

- A2. $P(x \odot y) \leq Px \odot Py$,
- A3. $Px \odot Px \leq P(x \odot x)$,
- A4. $Px \oplus Px \leq P(x \oplus x)$,
- A5. $x \leq Px$,
- A6. $PPx \leq Px$.

Let $Q: A \rightarrow A$ be the map such that $Qx = \overline{Px}$ for every $x \in A$. Then Q satisfies the following properties:

- A0°. $Q1 = 1$,
- A1°. $Q(x \rightarrow y) \leq (Qx \rightarrow Qy)$,
- A2°. $Qx \oplus Qy \leq Q(x \oplus y)$,
- A3°. $Q(x \oplus x) \leq Qx \oplus Qx$,
- A4°. $Q(x \odot x) \leq Qx \odot Qx$,
- A5°. $Qx \leq x$,
- A6°. $Qx \leq QQx$.

LEMMA 21 *Let $\langle A, P \rangle$ be a closure MV-algebra and x, y arbitrary elements in A . The following properties are satisfied:*

- (i) $x \leq y \Rightarrow Px \leq Py$ and $Qx \leq Qy$,
- (ii) $P(x \oplus y) \leq Px \oplus Py$, $Q(x \odot y) \geq Qx \odot Qy$,
- (iii) $P(x \odot x) = Px \odot Px$, $Q(x \oplus x) = Qx \oplus Qx$,
- (iv) $P(x \oplus x) = Px \oplus Px$, $Q(x \odot x) = Qx \odot Qx$,
- (v) $P(Px \odot Py) = Px \odot Py$, $Q(Qx \oplus Qy) = Qx \oplus Qy$,
- (vi) $P(Px \oplus Py) = Px \oplus Py$, $Q(Qx \odot Qy) = Qx \odot Qy$.

Proof

- (i) If $x \leq y$ then $x \oplus y = 0$; from A1 and A0 we have $Px \oplus Py = 0$, so $Px \leq Py$.
- (ii) $P(x \oplus y) = P(x) \vee P(x \oplus y) = P(x) \oplus (P(x \oplus y) \odot P(x))$; using A1 we obtain $P(x \oplus y) \leq Px \oplus P((x \oplus y) \odot x) = Px \oplus P((x \oplus y) \odot \bar{x}) = Px \oplus P(y \wedge \bar{x}) \leq Px \oplus Py$.
- (iii) From A2 and A3.
- (iv) Using A4 and (ii) the intended relation is obvious.
- (v) From A5 and A6 it is obvious that $P = PP$. From A2 we obtain $P(Px \odot Py) \leq PPx \odot PPy = Px \odot Py$. The converse inequality follows from A5.
- (vi) follows in a similar way but using (ii) instead of A2.

We are able to give an equivalent definition for closure MV-algebras.

DEFINITION 22 *Let A be an MV-algebra and $P: A \rightarrow A$. The pair $\langle A, P \rangle$ is a closure MV-algebra if P satisfies the axioms A0, A2–A6 and*

- B1. $P(x \oplus y) \leq Px \oplus Py$,
- B2. $x \leq y \Rightarrow Px \leq Py$,

for every $x, y \in A$.

LEMMA 23 *Definition 20 is equivalent to Definition 22.*

Proof From the previous lemma one can see that Definition 20 implies Definition 22. For the other implication it suffices to prove that A1 holds. Using (r5) we obtain $(Px \oplus Py) \odot P(x \odot y) = Px \odot (Py \oplus P(x \odot y))$. Using B1, (r6), (r3), B2 and (r4) it follows that $(Px \oplus Py) \odot P(x \odot y) \leq Px \odot P(y \oplus (x \odot y)) = Px \odot P(x \vee y) = 0$, so $P(x \odot y) \odot (Px \oplus Py) = 0$ which, by (r4), is an equivalent form for A1.

Example 24 Consider a pair $\langle X, R \rangle$ where X is a nonempty set and $R \subseteq X^2$ a preorder relation. Let L be a linear and complete MV-algebra. If we define $P^*: L^X \rightarrow L^X$ by

$$P^*(p)(x) = \vee \{p(y) \mid xRy\} \quad \text{for every } p \in L^X \text{ and } x \in X$$

then $\langle L^X, P^* \rangle$ is a closure MV-algebra. This follows as in Example 10, by using (r1) for A1.

We remark that axioms A0–A4 hold for an arbitrary relation R , but for A5 we need the reflexivity and for A6 the transitivity of R .

PROPOSITION 25 *If $\langle A, P \rangle$ is a monadic MV-algebra then $\langle A, P \rangle$ is a closure algebra.*

Proof The axioms A0, A3, A4 and A5 follow from M0, M4, M5 and M1. The axiom A6 follows from Lemma 8 (ii).

- A1. $x \leq x \vee y = (x \odot y) \oplus y \leq (x \odot y) \oplus y \leq (x \odot y) \oplus Py$, so using M3 it follows that $Px \leq P(x \odot y) \oplus Py$. From (r1) we get $Px \odot Py \leq P(x \odot y)$.
- A2. Using M1, Lemma 8 (viii) and M2 we obtain $P(x \odot y) \leq P(x \odot Py) = Px \odot Py$.

LEMMA 26 *If $\langle A, P \rangle$ is a closure algebra then the following identities are equivalent:*

- (i) $Px = QPx$,
- (ii) $Qx = PQx$,
- (iii) $P\overline{Px} = \overline{Px}$,
- (iv) $Q\overline{Qx} = \overline{Qx}$.

Proof

- (i) $\Leftrightarrow$ (ii) and (iii) $\Leftrightarrow$ (iv) by duality.
- (ii) $\Rightarrow$ (iii) $P\overline{Px} = PQx = \overline{Qx} = \overline{Px}$.
- (iii) $\Rightarrow$ (ii) $PQx = P\overline{Px} = \overline{Px} = Qx$.

DEFINITION 27 A closure MV-algebra $\langle A, P \rangle$ is an S_5 modal MV-algebra if the following axiom is added:

$$A7. PQx \leq Qx.$$

Remark 28 Let A be an MV-algebra and $C(A)$ the Boolean center of A . If x and y are in $C(A)$ then $x \odot y = x \wedge y$ and $x \oplus y = x \vee y$. It is easy to see that if $\langle A, P \rangle$ is an S_4 (S_5) modal MV-algebra then $\langle B(A), P|_{B(A)} \rangle$ is an S_4 (S_5) modal Boolean algebra.

PROPOSITION 29 If $\langle A, P \rangle$ is a closure algebra, then the following assertions are equivalent:

- (i) P is an existential quantifier on A ,
- (ii) P satisfies
 - (1) $P\overline{Px} = \overline{Px}$,
 - (2) $Px \oplus Py \leq P(x \oplus Py)$.

Proof (i) $\Rightarrow$ (ii) (2) follows immediately from M3.

(1) From M1 we obtain $\overline{Px} \leq P\overline{Px}$. For the converse inequality we use the fact that $\overline{Px} \odot Px = 0$, so $P(\overline{Px} \odot Px) = 0$. From M2 we get $P\overline{Px} \odot Px = 0$. It follows from Lemma 2 (iii) that $P\overline{Px} \leq \overline{Px}$.

(ii) $\Rightarrow$ (i) The axioms M0 and M1 are A0 and A5, respectively. The axioms M4 and M5 follow from Lemma 21 (iii) and (iv).

M2: $x \odot Py \leq Px \odot Py$, so using Lemma 21 (v) we obtain $P(x \odot Py) \leq P(Px \odot Py) = Px \odot Py$. For the converse inequality we use (1) and Lemma 21 (ii). It follows that $P(x \odot Py) \oplus \overline{Py} = P(x \odot Py) \oplus P\overline{Py} \geq P((x \odot Py) \oplus \overline{Py}) = P(x \vee \overline{Py}) \geq P(x)$, so (r1) implies $Px \odot Py \leq P(x \odot Py)$.

M3: $x \oplus Py \leq Px \oplus Py$, so using Lemma 21 (vi) we obtain $P(x \oplus Py) \leq P(Px \oplus Py) = Px \oplus Py$. Using hypothesis (2) we obtain the converse inequality.

In the sequel we shall denote by (*) the following inequality:

$$(*) Px \oplus Py \leq P(x \oplus Py)$$

COROLLARY 30 If $\langle A, P \rangle$ is a monadic MV-algebra then $\langle A, P \rangle$ is an S_5 modal MV-algebra.

Proof By Propositions 25 and 29.

COROLLARY 31 If $\langle A, P \rangle$ is an S_5 modal MV-algebra and P satisfies (*) then $\langle A, P \rangle$ is a monadic MV-algebra.

Proof By Lemma 26 and Proposition 29.

PROPOSITION 32 If $\langle A, P \rangle$ is a closure MV-algebra and P has the property (*) then the following are equivalent:

- (i) P is an existential quantifier on A ,
- (ii) $P(A)$ is an MV-subalgebra of A ,
- (iii) $P\overline{Px} = \overline{Px}$.

Proof

- (i) $\Rightarrow$ (ii) From properties (iii), (iv) of Lemma 8.
- (ii) $\Rightarrow$ (iii) It is obvious that $x \in P(A)$ iff $Px = x$. Because $P(A)$ is subalgebra we have that $\overline{Px} \in P(A)$, so $P(\overline{Px}) = \overline{Px}$.
- (iii) $\Rightarrow$ (i) By Proposition 29.

Example 33

- (a) Let $X = \{1, 2\}$ with the natural order relation. Following Example 24 we obtain that $\langle L_2^X, P \rangle$ is a closure Boolean algebra, where $P(x, y) = (x \vee y, y)$. It is obvious that (*) is satisfied, but (iii) from the above proposition is not, because $P\overline{P(1, 0)} = P(0, 1) = (1, 1) \neq \overline{P(1, 0)} = (0, 1)$.
- (b) Let $X = \{1, 2, 3\}$ with the natural order. Then $\langle L_3^X, P \rangle$ with P defined as in Example 24, is a closure MV-algebra that satisfies neither (*) nor (iii) from the above proposition. If we take $x = (0, 1/2, 0)$ and $y = (1/2, 0, 0)$ then $Px = (1/2, 1/2, 0)$ and $Py = (1/2, 0, 0)$.

One can see that $Px \oplus Py = (1, 1/2, 0) \not\leq (1/2, 1/2, 0) = P(x \oplus Py)$. If $x = (1, 1/2, 0)$ then $Px = (1, 1/2, 0)$, so $\overline{PPx} = P(0, 1/2, 1) = (1, 1, 1) \neq \overline{Px} = (0, 1/2, 1)$.

Open question. Find an example of a closure algebra satisfying (iii) and not (*).

In the sequel $\langle A, P \rangle$ will be a closure MV-algebra.

DEFINITION 34 An ideal I of A is said to be a P -ideal if for every $x \in A$ the following condition is satisfied:

$$x \in I \Rightarrow Px \in I.$$

Remark 35 The assertion stated in Remark 12 can be extended to closure MV-algebras: if X is a set in a closure algebra A then the P -ideal generated by X is

$$(X]_P = \{y \in A \mid y \leq Px_1 \oplus \dots \oplus Px_n, x_1, \dots, x_n \in X\}.$$

The proof uses Lemma 21 (vi).

Definitions of proper and maximal ideal are given as usual.

DEFINITION 36 Let I be a P -ideal in a closure algebra $\langle A, P \rangle$. We say that I is P -prime provided it is proper and for all $x, y \in A$ the condition $Px \wedge Py \in I$ implies that $Px \in I$ or $Py \in I$.

PROPOSITION 37 Every maximal P -ideal is P -prime.

Proof Let I be a maximal P -ideal and x, y two elements such that $Px \wedge Py \in I$ and $Px \notin I$. Because I is a maximal P -ideal it follows that $(I \cup \{Px\}]_P = A$, so there is an element $e \in I$ and a natural number k such that $Py \leq e \oplus kPx$. Using (r2) we obtain $Py = Py \wedge (e \oplus kPx) \leq (Py \wedge e) \oplus k(Py \wedge Px)$. We have that $Py \wedge e \in I$ (because $Py \wedge e \leq e \in I$) and $Py \wedge Px \in I$ from hypothesis, so $Py \in I$.

PROPOSITION 38 Let I be a proper P -ideal of the closure MV-algebra $\langle A, P \rangle$. The following assertions are equivalent:

- (i) I is a maximal P -ideal,
- (ii) if $x \in A$ then $Px \in I$ or $\overline{kPx} \in I$ for some $k \in \mathbb{N}$.

Proof (i) $\Rightarrow$ (ii) Let $x \in A$ such that $Px \notin I$. It follows that $(I \cup \{Px\}]_P = A$, so there is an element $e \in I$ and a natural number k such that $e \oplus kPx = 1$. It follows that $\overline{kPx} \leq e$ so $\overline{kPx} \in I$.

(ii) $\Rightarrow$ (i) Suppose I is not maximal. Then there is a proper P -ideal U such that $I \subset U$. Let $x \in U - I$. Because both I and U are P -ideals we obtain $Px \in U - I$. From hypothesis there is a natural number k such that $\overline{kPx} \in I \subset U$ and because $Px \in U$ and U is an ideal we have that $kPx \in U$. We obtain that both an element and its negation are in U , so we contradict the fact that U is proper.

COROLLARY 39 Let I be a proper P -ideal of the closure MV_n -algebra $\langle A, P \rangle$. The following assertions are equivalent:

- (i) I is a maximal P -ideal,
- (ii) if $x \in A$ then $Px \in I$ or $(Px)^* \in I$.

Proof We observe that if there is a natural number k such that $\overline{kPx} \in I$ then $(Px)^* \in I$. For the properties of MV_n -algebras imply that $kPx \leq (n-1)Px$ for every natural number k (if $k \geq n-1$ then $kPx = (n-1)Px$), so $(Px)^* \leq \overline{kPx}$ and $(Px)^* \in I$. The rest of the proof follows from the previous proposition.

PROPOSITION 40 Let $\langle A, P \rangle$ be a closure MV-algebra. Then for every $a \in A$, $a \neq 0$ there is a P -prime P -ideal I such that $a \notin I$.

Proof Let I be a P -ideal that is maximal with respect to the property $a \notin I$. We shall prove that I is P -prime. Let $x, y \in A$ such that $Px \wedge Py \in I$. Suppose that $Px \notin I$ and $Py \notin I$. It follows that $a \in (I \cup \{Px\}]_P \cap (I \cup \{Py\}]_P$, so there are $f, g \in I$ and k, l natural numbers such that $a \leq f \oplus kPx$ and $a \leq g \oplus lPy$. Hence $a \leq (f \oplus kPx) \wedge (g \oplus lPy)$ and using (r2) we obtain $a \leq (f \wedge g) \oplus k(g \wedge Px) \oplus l(f \wedge Py) \oplus kl(Px \wedge Py) \in I$, so $a \in I$ which contradicts the choice of I . It follows that $Px \in I$ or $Py \in I$, so I is P -prime.

COROLLARY 41 In every closure MV-algebra $\langle A, P \rangle$ the intersection of all P -prime P -ideals is $\{0\}$.

DEFINITION 42 A closure MV-algebra $\langle A, P \rangle$ is called *semi-simple* if the intersection of all maximal P -ideals is $\{0\}$.

LEMMA 43 Let $\langle A, P \rangle$ be a closure MV-algebra. If every P -prime P -ideal is maximal then $\langle A, P \rangle$ is semi-simple.

Proof By Corollary 41.

PROPOSITION 44 Let $\langle A, P \rangle$ be a closure MV_n -algebra. The following are equivalent:

- (i) every P -prime P -ideal is maximal,
- (ii) $\langle A, P \rangle$ is semi-simple.

Proof (i) $\Rightarrow$ (ii) is the previous lemma.

(ii) $\Rightarrow$ (i) Suppose that $\langle A, P \rangle$ is semi-simple and there exists a P -prime P -ideal I that is not maximal. Then there is a maximal P -ideal U such that $I \subset U$. Consider $x \in U - I$, so $Px \in U - I(1)$. We infer that $(Px)^* \notin U$ (otherwise U is not proper) and that $x \notin M$ and from hypothesis there is a maximal P -ideal M such that $x \notin M$ and from Corollary 39 it follows that $(Px)^* \in M$. So $(Px)^* \in M - U$ and $P((Px)^*) \in M - U$ (2). We observe that $Px \wedge P((Px)^*) \neq 0$, otherwise $Px \wedge P((Px)^*) \in I$ and because I is P -prime $Px \in I$ or $P((Px)^*) \in I \subseteq U$ which contradicts (1) or (2). From the hypothesis it follows that there is a maximal P -ideal G such that $Px \wedge P((Px)^*) \notin G$, so $Px \notin G$ and $P((Px)^*) \notin G$ (3). But from Corollary 39 we know that if $Px \notin G$ then $(Px)^* \in G$, so $P((Px)^*) \in G$ (because G is a P -ideal) and we contradict (3). Thus the proposition is proved.

4. MONADIC MV_n -ALGEBRAS AND MONADIC LM_n -ALGEBRAS

In this section we shall establish some algebraic connections between the monadic MV_n -algebras and the monadic n -valued Lukasiewicz–Moisil algebras for $n = 3$ and $n = 4$. These are monadic versions of the results obtained for $n = 3$ in [10] and for $n = 4$ in [8].

Let n be a natural number, $n \geq 2$ and $I = \{1, \dots, n-1\}$.

An n -valued Lukasiewicz–Moisil algebra (or an LM_n -algebra) is a structure $\langle L, \vee, \wedge, 0, 1, \neg, \varphi_1, \dots, \varphi_{n-1} \rangle$, where $\langle L, \vee, \wedge, 0, 1 \rangle$ is a De Morgan algebra and $\varphi_1, \dots, \varphi_{n-1}: L \rightarrow L$ are bounded lattice morphisms such that:

1. $\varphi_i x \vee \overline{\varphi_i x} = 1, \varphi_i x \wedge \overline{\varphi_i x} = 0$ for all $i \in I$;
2. $\varphi_i \varphi_j x = \varphi_j x$ for all $i, j \in I$;
3. $\varphi_i \overline{x} = \overline{\varphi_j x}$ for all $i, j \in I$ with $i + j = n$;
4. $\varphi_1 x \leq \varphi_2 x \leq \dots \leq \varphi_{n-1} x$

5. The determination principle: $\varphi_i x = \varphi_i y$ for all $i \in I$ implies $x = y$. As consequences of the determination principle we obtain:
6. $x \leq y$ iff $\varphi_i x \leq \varphi_i y$ for all $i \in I$;
7. $\varphi_1 x \leq x \leq \varphi_{n-1} x$.

We denote by $C(L)$ the set of all complemented elements of L and we call it the *center* of L . It is easy to see that $\langle C(L), \vee, \wedge, N, 0, 1 \rangle$ is a Boolean algebra. It is also well known that $C(L) = \{x \mid \varphi_i x = x, i = 1, \dots, n-1\}$.

The following definition introduces the monadic LM_n -algebras. More informations can be founded in [9] (for the 3-valued case) and [3].

DEFINITION 45 A monadic LM_n -algebra is a pair $\langle L, \exists \rangle$, where L is an LM_n -algebra and $\exists: L \rightarrow L$ is a mapping which satisfies the following axioms:

- LM0. $\exists 0 = 0$,
- LM1. $x \leq \exists x$,
- LM2. $\exists(x \wedge \exists y) = \exists x \wedge \exists y$,
- LM3. $\exists \varphi_i x = \varphi_i \exists x$, for $i = 1, \dots, n-1$.

LEMMA 46 [3] In every monadic LM_n -algebra the following properties are satisfied:

- (i) $\exists 1 = 1$,
- (ii) $\exists \exists x = \exists x$,
- (iii) $x \in \exists(L) \Leftrightarrow x = \exists x$,
- (iv) $x \leq y \Rightarrow \exists x \leq \exists y$,
- (v) $x \in C(L) \Rightarrow \exists x \in C(L)$,
- (vi) $\exists(x \vee y) = \exists x \vee \exists y$,
- (vii) $\exists \exists x = \exists x$.

LEMMA 47 In every monadic LM_n -algebra

$$\exists(x \wedge \varphi_i x) = \exists x \wedge \exists \varphi_i x, \text{ for every } i \in I.$$

Proof We shall use the determination principle. If $i \in I$ we shall prove that $\varphi_j(\exists(x \wedge \varphi_i x)) = \varphi_j(\exists x \wedge \exists \varphi_i x)$ for every $j \in I$ by using LM3 and the definition of LM_n algebras. If $j \leq i$ it follows that $\varphi_j(\exists(x \wedge \varphi_i x)) = \exists \varphi_j(x \wedge \varphi_i x) = \exists(\varphi_j x \wedge \varphi_i x) = \exists \varphi_j x = \varphi_j \exists x \wedge \varphi_i \exists x = \varphi_j(\exists x \wedge \varphi_i \exists x) = \varphi_j(\exists x \wedge \exists \varphi_i x)$.

If $j > i$ then $\varphi_j(\exists(x \wedge \varphi_i x)) = \exists \varphi_j(x \wedge \varphi_i x) = \exists(\varphi_j x \wedge \varphi_i x) = \exists \varphi_i x = \varphi_j \exists x \wedge \varphi_i \exists x = \varphi_j(\exists x \wedge \varphi_i \exists x) = \varphi_j(\exists x \wedge \exists \varphi_i x)$ and our proof is complete.

PROPOSITION 48 *Monadic MV_3 -algebras are polynomially equivalent with monadic LM_3 -algebras.*

Proof Let $A = \langle A, \oplus, \odot, \neg, 0, 1 \rangle$ be an MV_3 -algebra and $\langle A, \exists \rangle$ a monadic MV_3 -algebra. If we define $\varphi_1 x = x \odot x$ and $\varphi_2 x = x \oplus x$ then from [10] it follows that $\langle A, \vee, \wedge, 0, 1, \neg, \varphi_1, \varphi_2 \rangle$ is an LM_3 -algebra. From Definition 7 (M0, M1, M4, M5) and Lemma 8(vi) it is quite obvious that $\langle A, \exists \rangle$ is a monadic LM_3 -algebra.

For the converse affirmation let $\langle A, \vee, \wedge, 0, 1, \neg, \varphi_1, \varphi_2 \rangle$ be an LM_3 -algebra and $\langle A, \exists \rangle$ a monadic LM_3 -algebra. If we define

$$\begin{aligned} x \oplus y &= (\varphi_2 x \vee y) \wedge (x \vee \varphi_2 y) = \varphi_2(x \wedge y) \vee x \vee y \quad \text{and} \\ x \odot y &= (\varphi_1 x \wedge y) \vee (x \wedge \varphi_1 y) = \varphi_1(x \vee y) \wedge x \wedge y \end{aligned}$$

it follows that $\langle A, \oplus, \odot, \neg, 0, 1 \rangle$ is an MV_3 -algebra [10]. From Definition 45 (LM0, LM1, LM3) and the easy remark that $x \odot x = \varphi_1 x$ and $x \oplus x = \varphi_2 x$, we see that in order to prove that $\langle A, \exists \rangle$ is a monadic MV_3 -algebra it remains to verify that M2 and M3 from Definition 7 are satisfied:

$$\begin{aligned} \exists(x \oplus \exists y) &= \exists(\varphi_2(x \wedge \exists y) \vee x \vee \exists y) = \exists \varphi_2(x \wedge \exists y) \vee \exists x \vee \exists \exists y = \\ &= \varphi_2(\exists x \wedge \exists y) \vee \exists x \vee \exists y = \exists x \oplus \exists y, \\ \exists(x \odot \exists y) &= \exists((\varphi_1 x \wedge \exists y) \vee (x \wedge \varphi_1 \exists y)) = \exists(\varphi_1 x \wedge \exists y) \vee \exists(x \wedge \\ &= \varphi_1 \exists y) = (\exists \varphi_1 x \wedge \exists y) \vee (\exists x \wedge \exists \varphi_1 \exists y) = (\varphi_1 \exists x \wedge \exists y) \vee (\exists x \wedge \varphi_1 \exists y) = \\ &= \exists x \odot \exists y. \end{aligned}$$

PROPOSITION 49 *Every monadic MV_4 -algebra has a structure of monadic LM_4 -algebra with respect to $\varphi_1 x = x^3$, $\varphi_2 x = (2x)^3 = 3x^2$ and $\varphi_3 x = 3x$.*

Proof Let $A = \langle A, \oplus, \odot, \neg, 0, 1 \rangle$ be an MV_4 -algebra and $\langle A, \exists \rangle$ a monadic MV_4 -algebra. From [8] it follows that $\langle A, \vee, \wedge, 0, 1, \neg, \varphi_1, \varphi_2, \varphi_3 \rangle$ is an LM_4 -algebra. To show that $\langle A, \exists \rangle$ is a monadic LM_4 -algebra it remains to prove LM3 from Definition 45:

$$\begin{aligned} \varphi_1 \exists x &= (\exists x)^3 = (\exists x)^2 \odot (\exists x)^2 = \exists(x)^2 \odot \exists(x^2) = \exists(x^4) = \exists(x^3) = \exists \varphi_1 x, \\ \varphi_2 \exists x &= (\exists x \oplus \exists x)^3 = (\exists 2x)^3 = (\exists 2x)^4 = \exists(2x)^4 = \exists(2x)^3 = \exists \varphi_2 x, \\ \varphi_3 \exists x &= 3\exists x = 2\exists x \oplus \exists x = \exists(2x) \oplus \exists(2x) = \exists 4x = \exists 3x = \exists \varphi_3 x. \end{aligned}$$

We have used the fact that in every MV_4 -algebra $4x = 3x$ and $x^4 = x^3$.

Let $\langle A, \vee, \wedge, 0, 1, \neg, \varphi_1, \varphi_2, \varphi_3 \rangle$ be an LM_4 -algebra and $\langle A, \exists \rangle$ a monadic LM_4 -algebra. If we define

$$\begin{aligned} x \oplus y &= (x \vee \varphi_3 y) \wedge (y \vee \varphi_3 x) \wedge (\bar{x} \vee \bar{y} \vee \varphi_2 x \vee \varphi_2 y) \quad \text{and} \\ x \odot y &= (x \wedge \varphi_1 y) \vee (y \wedge \varphi_1 x) \vee (\bar{x} \wedge \bar{y} \wedge \varphi_2 x \wedge \varphi_2 y) \end{aligned}$$

then it follows that $\langle A, \oplus, \odot, \neg, 0, 1 \rangle$ is an MV_4 -algebra [8].

LEMMA 50 *Let $\langle A, \exists \rangle$ be a monadic LM_4 -algebra. For the above operations $\oplus$ and $\odot$ the following properties hold for every $x, y \in A$:*

- (i) $\exists 0 = 0$,
- (ii) $x \leq \exists x$,
- (iii) $\exists(x \odot \exists y) = \exists x \odot \exists y$,
- (iv) $\exists(x \odot x) = \exists x \odot \exists x$,
- (v) $\exists(x \oplus x) = \exists x \oplus \exists x$,
- (vi) $\exists(x \oplus \exists y) \leq \exists x \oplus \exists y$,
- (vii) $\exists \bar{x} \leq \exists x$,
- (viii) $\exists x \odot \exists \bar{y} \leq \exists(x \odot \bar{y})$,
- (ix) $\exists x \wedge \exists \bar{x} \leq \exists(x \wedge \bar{x})$.

Proof (i) and (ii) hold by definition. In order to prove (iii)–(v) we establish some preliminary results.

- (a) $\exists(\exists x \odot \exists y) = \exists x \odot \exists y$
 $\exists(\exists x \odot \exists y) = \exists(\exists x \wedge \exists \varphi_1 y) \vee \exists(\exists y \wedge \exists \varphi_1 x) \vee \exists(\exists \bar{x} \wedge \exists \bar{y} \wedge \exists \varphi_2 x \wedge \varphi_2 y) = (\exists x \wedge \varphi_1 \exists y) \vee (\exists y \wedge \varphi_1 \exists x) \vee (\exists \bar{x} \wedge \exists \bar{y} \wedge \varphi_2 \exists x \wedge \varphi_2 \exists y) = \exists x \odot \exists y.$
- (b) $\exists(\exists x \oplus \exists y) = \exists x \oplus \exists y$
 $\exists(\exists x \oplus \exists y) = \exists[(\exists x \vee \varphi_3 \exists y) \wedge (\exists y \vee \varphi_3 \exists x) \wedge (\exists \bar{x} \vee \exists \bar{y} \vee \varphi_2 \exists x \vee \varphi_2 \exists y)] = \exists[\exists(x \vee \varphi_3 y) \wedge \exists(y \vee \varphi_3 x) \wedge \exists(\exists \bar{x} \vee \exists \bar{y} \vee \varphi_2 x \vee \varphi_2 y)] = \exists(x \vee \varphi_3 y) \wedge \exists(y \vee \varphi_3 x) \vee (\exists \bar{x} \vee \exists \bar{y} \vee \varphi_2 \exists x \vee \varphi_2 \exists y) = \exists x \oplus \exists y.$

(iii) From $x \odot \exists y \leq \exists x \odot \exists y$ it follows that $\exists(x \odot \exists y) \leq \exists(\exists x \odot \exists y) = \exists x \odot \exists y$. For the converse inequality we have:

$$\begin{aligned} \exists x \odot \exists y &= (\exists x \wedge \varphi_1 \exists y) \vee (\exists y \wedge \varphi_1 \exists x) \vee (\exists \bar{x} \wedge \exists \bar{y} \wedge \varphi_2 \exists x \wedge \varphi_2 \exists y) \\ &= \exists(x \wedge \varphi_1 \exists y) \vee (\exists y \wedge \varphi_1 x) \vee (\exists \exists \bar{x} \wedge \exists \varphi_2 x \wedge \exists \bar{y} \wedge \varphi_2 \exists y) \\ &= \exists(x \wedge \varphi_1 \exists y) \vee \exists(\exists y \wedge \varphi_1 x) \vee (\exists(\exists \bar{x} \wedge \varphi_2 x) \wedge \exists \bar{y} \wedge \varphi_2 \exists y) \end{aligned}$$

$$\begin{aligned}
&\leq \exists(x \wedge \varphi_1 \exists y) \vee \exists(\exists y \wedge \varphi_1 x) \vee (\exists(\bar{x} \wedge \varphi_2 x) \wedge \exists \bar{\exists} \bar{y} \wedge \varphi_2 \exists y) \\
&= \exists(x \wedge \varphi_1 \exists y) \vee \exists(\exists y \wedge \varphi_1 x) \vee \exists(\bar{x} \wedge \varphi_2 x \wedge \bar{\exists} \bar{y} \wedge \varphi_2 \exists y) \\
&= \exists[(x \wedge \varphi_1 \exists y) \vee (\exists y \wedge \varphi_1 x) \vee (\bar{x} \wedge \varphi_2 x \wedge \bar{\exists} \bar{y} \wedge \varphi_2 \exists y)] \\
&= \exists(x \odot \exists y)
\end{aligned}$$

- (iv) From $x \odot x \leq \exists x \odot \exists x$ it follows that $\exists(x \odot x) \leq \exists(\exists x \odot \exists x) = \exists x \odot \exists x$. For the converse inequality we observe that $x \odot x = \varphi_1 x \vee (\bar{x} \wedge \varphi_2 x)$. We obtain $\exists x \odot \exists x = \varphi_1 \exists x \vee (\bar{\exists} \bar{x} \wedge \varphi_2 \exists x) = \varphi_1 \exists x \vee \exists(\bar{\exists} \bar{x} \wedge \varphi_2 x) = \exists[\varphi_1 x \vee (\bar{\exists} \bar{x} \wedge \varphi_2 x)]$, so $\exists x \odot \exists x \leq \exists[\varphi_1 x \vee (\bar{x} \wedge \varphi_2 x)] = \exists(x \odot x)$.
- (v) From $x \oplus x \leq \exists x \oplus \exists x$ it follows that $\exists(x \oplus x) \leq \exists(\exists x \oplus \exists x) = \exists x \oplus \exists x$. For the converse inequality we observe that $x \oplus x = \varphi_3 x \wedge (\bar{x} \vee \varphi_2 x) = \varphi_2 x \vee (\bar{x} \wedge \varphi_3 x)$. We have $\exists x \oplus \exists x = \varphi_2 \exists x \vee (\bar{\exists} \bar{x} \wedge \varphi_3 \exists x) = \varphi_2 \exists x \vee \exists(\bar{\exists} \bar{x} \wedge \varphi_3 x) = \exists[\varphi_2 x \vee (\bar{\exists} \bar{x} \wedge \varphi_3 x)]$, so $\exists x \oplus \exists x \leq \exists[\varphi_2 x \vee (\bar{x} \wedge \varphi_3 x)] = \exists(x \oplus x)$.
- (vi) From $x \oplus \exists y \leq \exists x \oplus \exists y$ we obtain $\exists(x \oplus \exists y) \leq \exists(\exists x \oplus \exists y) = \exists x \oplus \exists y$.
- (vii) From (ii) we have $x \leq \exists x$, so $\bar{\exists} \bar{x} \leq \bar{x}$. We apply (ii) for $\bar{x}$ and we obtain $\bar{x} \leq \bar{\exists} \bar{x}$, hence $\bar{\exists} \bar{x} \leq \bar{\exists} \bar{x}$ by transitivity.
- (viii) From $x \odot \bar{\exists} \bar{y} \leq x \odot \bar{y}$ it follows that $\exists x \odot \bar{\exists} \bar{y} = \exists(x \odot \bar{\exists} \bar{y}) \leq \exists(x \odot \bar{y})$.
- (ix) $\exists x \wedge \bar{\exists} \bar{x} = (\exists x \oplus \exists x) \odot \bar{\exists} \bar{x} = \exists(x \oplus x) \odot \bar{\exists} \bar{x}$. From (viii) it follows that $\exists x \wedge \bar{\exists} \bar{x} \leq \exists((x \oplus x) \odot \bar{x}) = \exists(x \wedge \bar{x})$.

PROPOSITION 51 *Every monadic LM_4 -algebra has a structure of monadic MV_4 -algebra with respect to the operations $\oplus$ and $\odot$ defined by*

$$\begin{aligned}
x \oplus y &= (x \vee \varphi_3 y) \wedge (y \vee \varphi_3 x) \wedge (\bar{x} \vee \bar{y} \vee \varphi_2 x \vee \varphi_2 y) \quad \text{and} \\
x \odot y &= (x \wedge \varphi_1 y) \vee (y \wedge \varphi_1 x) \vee (\bar{x} \wedge \bar{y} \wedge \varphi_2 x \wedge \varphi_2 y).
\end{aligned}$$

Proof Let $\langle A, \vee, \wedge, 0, 1, \bar{}, \varphi_1, \varphi_2, \varphi_3 \rangle$ be an LM_4 -algebra and $\langle A, \exists \rangle$ a monadic LM_4 -algebra. From [8] it follows that $\langle A, \oplus, \odot, \bar{}, 0, 1 \rangle$ is an MV_4 -algebra. From Lemma 50(i–v) it follows that axioms M0–M2, M4, M5 are satisfied. To prove that $\langle A, \exists \rangle$ is a monadic MV_4 -algebra we must show that axiom M3 is also satisfied. One inequality is established in Lemma 50(vi). It remains to prove that $\exists x \oplus \exists y \leq \exists(x \oplus \exists y)$.

Using distributivity, the Property 4 from the definition of LM_n -algebra and the consequence 7 it follows that

$$\begin{aligned}
\exists x \oplus \exists y &= (\exists x \vee \varphi_3 \exists y) \wedge (\exists y \vee \varphi_3 \exists x) \wedge (\bar{\exists} \bar{x} \vee \bar{\exists} \bar{y} \vee \varphi_2 \exists x \vee \varphi_2 \exists y) \\
&= (\exists x \wedge \exists y \wedge (\bar{\exists} \bar{x} \vee \bar{\exists} \bar{y})) \vee (\exists x \wedge \exists y \vee \varphi_2(\exists x \vee \exists y)) \vee \\
&\quad (\exists x \wedge (\bar{\exists} \bar{x} \vee \bar{\exists} \bar{y})) \vee (\exists x \wedge \varphi_2(\exists x \vee \exists y)) \vee \\
&\quad (\exists y \wedge (\bar{\exists} \bar{x} \vee \bar{\exists} \bar{y})) \vee (\exists y \wedge \varphi_2(\exists x \vee \exists y)) \vee \\
&\quad (\varphi_3(\exists x \wedge \exists y) \wedge (\bar{\exists} \bar{x} \vee \bar{\exists} \bar{y})) \vee \\
&\quad (\varphi_3 \exists y \wedge \varphi_2 \exists x) \vee (\varphi_3 \exists x \wedge \varphi_2 \exists y).
\end{aligned}$$

By absorption and again distributivity we obtain $\exists x \oplus \exists y = a \vee b \vee c \vee d$ where

$$\begin{aligned}
a &= (\exists x \vee \exists y) \wedge (\bar{\exists} \bar{x} \vee \bar{\exists} \bar{y}) \\
&= (\exists x \wedge \bar{\exists} \bar{x}) \vee (\exists x \wedge \bar{\exists} \bar{y}) \vee (\exists y \wedge \bar{\exists} \bar{x}) \vee (\exists y \wedge \bar{\exists} \bar{y}), \\
b &= (\exists x \vee \exists y) \wedge \varphi_2(\exists x \vee \exists y), \\
c &= \varphi_3(\exists x \wedge \exists y) \wedge (\bar{\exists} \bar{x} \vee \bar{\exists} \bar{y}), \\
d &= (\varphi_2 \exists x \wedge \varphi_3 \exists y) \vee (\varphi_3 \exists x \wedge \varphi_2 \exists y).
\end{aligned}$$

In the sequel we shall decompose in the same manner the expression $\exists(x \oplus \exists y)$.

$$\begin{aligned}
x \oplus \exists y &= (x \vee \varphi_3 \exists y) \wedge (\exists y \vee \varphi_3 x) \wedge (\bar{x} \vee \bar{\exists} \bar{y} \vee \varphi_2 x \vee \varphi_2 \exists y) \\
&= (x \vee \exists y \vee \varphi_3(x \wedge \exists y)) \wedge (\bar{x} \vee \bar{\exists} \bar{y} \vee \varphi_2(x \vee \exists y)) \\
&= ((x \vee \exists y) \wedge (\bar{x} \vee \bar{\exists} \bar{y})) \vee (\varphi_3(x \wedge \exists y) \wedge (\bar{x} \vee \bar{\exists} \bar{y})) \vee \\
&\quad ((x \vee \exists y) \wedge \varphi_2(x \vee \exists y)) \vee (\varphi_3(x \wedge \exists y) \wedge \varphi_2(x \vee \exists y)).
\end{aligned}$$

If we denote

$$\begin{aligned}
a' &= \exists[(x \vee \exists y) \wedge (\bar{x} \vee \bar{\exists} \bar{y})] \\
b' &= \exists[(x \vee \exists y) \wedge \varphi_2(x \vee \exists y)], \\
c' &= \exists[\varphi_3(x \wedge \exists y) \wedge (\bar{x} \vee \bar{\exists} \bar{y})], \\
d' &= \exists[\varphi_3(x \wedge \exists y) \wedge \varphi_2(x \vee \exists y)],
\end{aligned}$$

then Lemma 46(vi) implies $\exists(x \oplus \exists y) = a' \vee b' \vee c' \vee d'$.

We shall prove that $a \leq a'$, $b \leq b'$, $c \leq c'$ and $d = d'$.

Using distributivity, Lemma 46(vi), (vii) and LM2. We obtain

$$\begin{aligned} a' &= \exists[x \wedge \bar{x}] \vee (\bar{x} \wedge \exists y) \vee (x \wedge \exists y) \vee (\exists y \wedge \exists y) \\ &= \exists(x \wedge \bar{x}) \vee (\exists \bar{x} \wedge \exists y) \vee (\exists x \wedge \exists y) \vee (\exists y \wedge \exists y). \end{aligned}$$

By Lemma 50 (ix), (vii) it follows that

$$\begin{aligned} \exists x \wedge \exists \bar{x} &\leq \exists(x \wedge \bar{x}), \\ \exists y \wedge \exists \bar{x} &\leq \exists y \wedge \exists \bar{x}, \end{aligned}$$

so $a \leq a'$.

Lemma 47 implies that

$$\begin{aligned} b' &= \exists[(x \vee \exists y) \wedge \varphi_2(x \vee \exists y)] \\ &= \exists(x \vee \exists y) \wedge \exists \varphi_2(x \vee \exists y) \\ &= (\exists x \vee \exists y) \wedge \varphi_2(\exists x \vee \exists y) \\ &= b. \end{aligned}$$

Using Lemma 46 (vii), (vi), LM2, LM1 and Lemma 2(i) it follows that

$$\begin{aligned} c &= \varphi_3(\exists x \wedge \exists y) \wedge (\exists \bar{x} \wedge \exists \bar{y}) \\ &= \exists \varphi_3(x \wedge \exists y) \wedge \exists(\exists \bar{x} \vee \exists \bar{y}) \\ &= \exists[\varphi_3(x \wedge \exists y) \wedge \exists(\exists \bar{x} \vee \exists \bar{y})] \\ &= \exists[\varphi_3(x \wedge \exists y) \wedge (\exists \bar{x} \vee \exists \bar{y})] \\ &\leq \exists[\varphi_3(x \wedge \exists y) \wedge (\bar{x} \vee \exists \bar{y})] \\ &= c'. \end{aligned}$$

Using distributivity, the Property 4 from the definition of LM_n -algebra, LM3 and Lemma 46 (ii), (vi) we obtain

$$\begin{aligned} d' &= \exists[\varphi_3(x \wedge \exists y) \wedge \varphi_2(x \vee \exists y)] \\ &= \exists[(\varphi_2 x \wedge \varphi_3 \exists y) \vee (\varphi_3 x \wedge \varphi_2 \exists y)] \\ &= [(\varphi_2 \exists x \wedge \varphi_3 \exists y) \vee (\varphi_3 \exists x \wedge \varphi_2 \exists y)] \\ &= d. \end{aligned}$$

It follows that $\exists x \oplus \exists y = a \vee b \vee c \vee d \leq a' \vee b' \vee c' \vee d' = \exists(x \oplus \exists y)$, so our proof is finished.

COROLLARY 52 *Monadic MV_4 -algebras are polynomially equivalent with monadic LM_4 -algebras.*

Proof From Propositions 49 and 51.

Acknowledgement

The authors wish to express their gratitude to professor Sergiu Rudeanu for his valuable remarks on this paper.

References

- [1] Belluce, L. P. (1992). Semi-simple and complete MV-algebras, *Algebra Universalis*, **29**, 1–9.
- [2] Belluce, L. P. and Chang, C. C. (1963). A weak completeness theorem for infinite valued first-order logic, *J. Symb. Logic*, **28**, 43–50.
- [3] Boicescu, V., Filipoiu, A., Georgescu, G. and Rudeanu, S. (1991). Lukasiewicz–Moisil algebras, North-Holland.
- [4] Chang, C. C. (1958). Algebraic analysis of many valued logics, *Trans. Amer. Math. Soc.*, **88**, 467–490.
- [5] Cignoli, R. and Mundici, D. (1997). An elementary proof of Chang's completeness theorem for the infinite-valued calculus of Lukasiewicz, *Studia Logica*, **58**, 79–97.
- [6] Grigolia, R. (1977). Algebraic analysis of Lukasiewicz–Tarski's n -valued logical systems. Selected Papers on Lukasiewicz Sentential Calculi (Wójcicki, R. and Malinowski, G. Eds.), *Polish Acad. of Sciences, Ossolineum, Wrocław*, 81–92.
- [7] Iturrioz, L. (1977). Two characteristic properties of monadic three-valued Lukasiewicz algebras, *Reports on Mathematical Logic*, **8**, 63–69.
- [8] Iorgulescu, A. (1998). Connections between MV_n -algebras and n -valued Lukasiewicz–Moisil algebras Part I, *Discrete Mathematics*, **181**, 155–177.
- [9] Monteiro, L. (1974). Algebras de Lukasiewicz trivalentes monadicas, Ph.D. Thesis, Notas de Logica Mat. Inst. Mat., Univ. Nacional del Sur, Bahía-Blanca, No. 32.
- [10] Mundici, D. (1989). The C^* -algebras of three-valued logic, *Logic Colloquium'88* (Ferro, R., Bonotto, C., Valentini, S. and Zanardo, A. Eds.), Elsevier Science Publishers B. V. (North-Holland), pp. 61–77.
- [11] Ostermann, P. (1988). Many-valued modal propositional calculi, *Zeitschr. f. Math. Logik und Grundlagen d. Math.*, **34**, 343–354.
- [12] Halmos, P. R. (1962). *Algebraic Logic*, Chelsea, New York.
- [13] Schwartz, D. (1977). Theorie der polyadischen MV-Algebren endlicher Ordnung, *Math. Nachr.*, **78**, 131–138.
- [14] Schwartz, D. (1980). Polyadic MV-algebras, *Zeitschr. f. Math. Logik und Grundlagen d. Math.*, **26**, 561–564.